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Topic 24: Division 3

ing with remainders
re are 9 buns in a pack. Laura shares them equally among 4 children.
many will they each get? How many buns are left over?

low many buns does each child get2 2 How many buns are left over? 1
write thisas 2 r 1.

ns remainder. 2r1
=2rlor 4|9

Use cubes to answer the following questions.
1L18+3=__ 2 7+3=__ 3 8+4=__ 4

im can be written as 9 +

5 7+5=__ 6 22+10=__7 21+5=__ 8 17+4=__
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E Answer the questions.

1.
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There are 28 children in Sophia’s class. The teacher asks them to split into groups of 9.
How many children will not have a group?
(@) Gran bought a bumper bag of sweets. She shared them between my 4 friends
and me. Ifthere were 27 packets of sweets, how many did we each get?
(b) How many were left over?
50 people are getting on a train. Only 9 fit in each carriage.
How many carriages are needed for all 50 to get a seat?
Chloe has been collecting stamps. 10 fit on each page. %4
How many pages will she need if she has 82 stamps? -
(a) Carlos has 3 boxes of crayons. Each box has 8 crayons. He shares them
out between himself and his 2 brothers. How many will they each get?
(b) How many will be left over?
The milkman delivers 4 cartons of milk to each of the 6 houses on Dairy Road.
One week, two of the families were on holiday so he decided to divide the milk
equally among the other houses. How many did they each get? Were there any
cartons left over?

Strand Unit Op

16 Solve and complete practical tasks and problen
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Topic 24: Division 3

numbers

Share 65 equally between 5

Begin by sharing the tens
Gtens+5=1r1

Now share the remaining ten + 5 units

15+5 = 3 units

13 6+5=1r1
15+5=3
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Dividing bigger numbers.

1. 2(32 2. 570 3. 6/9% 4. 354 5.7

98

6. 4]68 7. 6|84 8. 3|57 9.4/76  10. 8

96

m Dividing with remainders.

1. 3|82 2. 4[58 3. 8|95 4.7|88 5.5

95

6. 686 7. 4165 8.8|99 9. 6|98 10. 7

93

Answer the questions.
1. 1 have 57 books. | put 8 on each shelf in my bedroom.
How many books will | have leit? o

2. 42 apples are shared equally among 10 children.
How many apples will be left over? v

umber by a one-digit number Strand Nun

ith remainde Strand Unit_ TORSA00N
316 Solve and complete practical tasks and problem:
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P cxolain it/

Use cubes with a partner to see who can explain division in the

clearest way. Remember to use as many mathematical words as possible.

5. 535 6.6/36 7. 8(72 8. 7[21 ’

10,24+ 3=__r__

@ so\ve it/
At the fun fair, Emily and her 15 friends decided to go on the waltzers. There were
4 carriages. How many went in each one if they split up equally?
2. Claire’s granny gave her €30 to share equally between her and
her 2 brothers. How much did they each get?
3. AtSue’s party, 50 balloons were divided equally between the 8
children. How many did they each get? How many were left over?
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wﬁ; remainders

Warm-up. Listen (o your teacher. Target Board.

3 8

[E] Dividing by 3,6,9 and 7.

1. 18+6= 2. 3 21+7= 4. 18+9=
5. 9+3= 6. 7. 14+7= 8 21+3=
9. 24+6=__ 10 M 72+9=_ 12 6+6
13. 49 =7 14. 15. 54+6=__ 16, 90 +9
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Tick the correct sum to go with the following word problem.
Joan had 72 stickers. She shared them equally between the 9 pages of her sticker book.
How many did she put on cach page?

72 X9 = 648 72+8=9

72x9=8 72+9=8

m Write a division sentence for each of the following.

e iy

4
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Write a word problem for each of the following di
1.45+9= 2. 54+6= 3. 49
5. 18+9= 6. 72+6= 7. 56

n sentences.

7 8. 90 +3

p and/or recall division fact Strand Numbe

Strand Unit Operation:

7= 4. 27 +3=
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Topic 24: Division 3

Divide.

1.3[15 2 6/30 3.9(45 4 7|21 5.6/42
6.7[14 7.3|27 8 9|63 9. 6/24 10.763
11,9081 12 3|3 13. 6/12 14. 7|35 15 3|21
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E Answer the questions.

1.

7.

Mark's class went swimming. The 30 children were
divided into 6 groups. How many were in Mark’s group?

Jane was helping her mum to plant carrots. They planted
27 seeds into 3 rows. How many seeds were in each row?

There are 54 crayons in a box. Mat’s teacher asked him to
share them equally between the 6 tables. How many did each
table get?

Each bench in assembly seats  children. If 64 pupils arrived
at assembly, how many benches would they need?

There are 27 pupils in each of the 3 third classes. At the school
sports day, all of third class were split into groups of 9 for the relay race.
How many teams were there?

90 children went away on a school trip. They were split up between 9 houses.
How many children were in each house?

Jenny has 10 football cards, Tom has 17 and Lorraine has 21. If they put all of their
cards together and shared them out equally, how many would they each get?
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t? Puzzle. As you know, a way to tell an insect from a spider is to
count ts legs. Allinsects have 6 legs and all spiders have 8 legs.

Some insects and spiders went to a dance and there were 48
dancing legs!
How many insects and how many spiders were at the dance?

315 Divide a one-digitor two-digit number by a one-digit
number without remainder

%




